Monomials and Polynomials 2.1

Simplify the following expressions.
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Show what each expression means. Simplify.
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Simplify the following expressions, Show the algebraic shortcut you use.

36) x*-x* 37) y -y 38) =z g 39) pt-p’
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55) (4j+ Sk - j) + (6] + 14k - Tm) 56) (-13m+ 14n - 6p) + (9m + 5q - 10r)
57) (-2j - 5k - 21m) - (-7k + 5m - 6K) 58) (15n+6p - 11q) - (21n -4q + 18q)
59) 3x*+ 12x + 7x2 + Ty 60) 4a’+2a?+ 5a? + 3a + 92 61) 21k° - 14k° + 13" + 8K°
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65) (+5(G+2) 66) (k+4)k-1) 67) 2p-7)(p - 3) 68) (m- 6)(m -2)
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